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- Note :~This paper consists of Three Sections. Section

A is compuisory. Attempt any Four questions
from Section B and Three from Section C.

Section-4 Marks 1 1 Each

1. {a) Most important objectives of; statistical

analysis to get :

() Range

(i) A single value
(i) Mid-value
(iv) All-

(b)  The pie diagram (pie chart} is used 10
represent:

(i) Frequency

(i) Relative frequency
(ili)y  Cumulative frequency

(iv) All

SPHM-1.1.2. Turn Over



(2)

in a bimolal series Mode = ............ )
Median—........... Mean.
\What is the order and degree of the
isllowing differential equation : :
°y
(‘;) ‘C—f;? + Yy = 0
{42 \ 2
a 12 +x2[9—/—] =0
L l\dXé dx -

i 1am 0 = t, find all tratios of O interms of ¢.
Find the value of

'1an®60° + 4 cos?45° + 3 sec’30° +
5 c0s°90°.

i

Zrove that .

1+ sin0

= sec 6 + tan t.

L 1-sin0)

Zrove that:

sn51 +cos81°=cos21 .

“t=an of a finite number of observation
= 5 if each observation 15 increased by
2 indthe new mean.
~#erentiate 8 .sin 3x.

. SINX.COSX.AX = .oouenn..

Tozivate L (2x e+ dk
Bt
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(i) Seajar v
(iv) None.

1 4 5]
(0) Find theslope o’ = .
is /3.
Seciinn-_

The postal expenses on trs -
from the office-and gjven 4
following distribution
Postage (in Paise) 10"
No. of letters 47T
Find the mean postar »
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Prove that:
Tsin80.cos) - con D

COS 20.C058 — s~
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P07 I6D° - A) = 3cot 3A.
i belcw, {ind the mean and

No. of condidates
7
10
16
30
24
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